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P1203 [2963]-394
T.E. Computer (2003 Course)
COMPUTER NETWORKS (310250)
Time : 3 Hours] [Max. Marks :100
Instructions to Candidates:
1)  Answer any 03 questions from each section.
2)  Answers to the two sections should be written in separate books.
3)  Neat diagrams must be drawn wherever necessary.
4)  Figures to the right indicate full marks.
SECTION - I
QI1) a) Explain the OSI Reference model? [8]
b)  With the help of timing of event diagram, compare the circuit switching,
message switching and packet switching? [8]
OR
E Q2) a) What are services primitives? Distinguish between services, protocols
and Interfaces? [8]
b) i) Explain wireless LAN?
ii) Why does the ATM use small, fixed length cell? [8]
03) a) Explain Go Back N protocol? What are the demerits of this protocol ?[8]
b) Explain framing method of Data Link Layer? [8]
OR
04) a) Explain in detail HDLC frame format and its control fields? [8]
b) Compare the following:
i)  Router & Bridge
ii) Hub and Switch. [8]
05) a) Explain hidden station problem and exposed station problem in wireless
LAN. 9]
| b) What is need of minimum frame size? If it is 64 bytes then calculate the
{ loss of bandwidth for 100 MBPS ethernet Network? [9]
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.. OR
Explain Bluetooth Architecture with diagram? [6]

Sketch Manchester encoding and differential Manchester encoding for
bit stream. [6]

i) 0001110101
ii) 1100101110

Fast ethernet has the same 64-byte minimum frame size but can get the
bits out ten times faster. How is it possible to maintain the same minimum

frame size? How much bandwidth loss will occur in this case? [6]
SECTION - I1
Describe the routing method for mobile host? [81

Illustrate with a diagram the five address formats used in Internet? [8]
OR

How congestion control is different from flow control? Explain the load

shading Algorithm? [8]

A computer on a 6 - Mbps network is regulated by token bucket. Token
bucket filled at a rate of 1 Mbps. It is initially filled to a capacity with 8
megabits. How long can computer transmit at the full 6 Mbps? [81

Under the transport service what is meant by nesting TPDU’s? Illustrate
with a diagram a connection establishment between a client & server

using TPDU’s? [8]

Illustrate the phenomenon of silly window syndrome in TCP? [8]
OR

Draw and explain TCP header format? : [8]

Describe the transport connection release. Procedure considering all

possible Scenarios? [8]

Compare the followings: 91

i) FTPand TFTP.
ii) WAP and imode.
iii) HTTP and SMTP.
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How the revolver looks up a remote names in DNS?
OR
Explain the function of Email system?
What do you mean by statelessness and Cookies? Explain?

Explain the caching in Web Browser.
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